
計算問題（チャレンジ２）　　　　３０秒（５０問）　　

　１．　２＋５　　＝　

　２．　４＋７　　＝

　３．１４ー３　　＝

　４．　４ー４　　＝

　５．　４×４　　＝

　６．　８×３　　＝

　７．　８÷２　　＝

　８．　９÷３　　＝

　９．１４＋８　　＝

１０．１４＋２２　＝

１１．２４÷６　　＝

１２．　５×８　　＝

１３．　８ー５　　＝

１４．１２×１２　＝

１５．８０÷１６　＝

１６．　３÷３　　＝

１７．１６＋７　　＝

１８．　７×３　　＝

１９．１４－６　　＝

２０．　８ー３　　＝

２１．　４＋８　　＝

２２．２８÷２　　＝

２３．１３×３　　＝

２４．７６－１２　＝

２５．４６＋１５　＝

２６．３２÷４　　＝

２７．５６÷８　　＝　

２８．　７×６　　＝

２９．２２ー７　　＝

３０．　４＋９　　＝

３１．　９×４　　＝

３２．　２×５　　＝

３３．１４÷７　　＝

３４．３２＋２９　＝

３５．１６÷４　　＝

３６．１６－４　　＝

３７．１１×４　　＝

３８．　６＋１５　＝

３９．６５ー５　　＝

４０．４３ー２５　＝

４１．　４＋４　　＝

４２．１４×０　　＝

４３．３２÷８　　＝

４４．７７÷７　　＝

４５．１５×７　　＝

４６．６４－１６　＝

４７．３０×１１　＝

４８．９３÷３　　＝

４９．４４＋８８　＝

５０．７６＋３７　＝
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